School Closure

Work Pack 8




Hello there everyone!

If there are any pupils in my class who are still downloading the
work packs, take a look at Google Classroom which you can
access through your Hwb account.

All of the work pack work is on there but you will be able to
complete the work in a more fun and interactive way! | can also

see your work and mark it once you have completed it!

| hope to see you there!
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a 2.5kg

250 g is the same as:

b 25kg

7.5kg is the same as:

aldg

b 7509

1 anve-r_;iﬁg‘sg metric weights.

a ____g=70kilograms
b ____kg=4.5tonnes
c —_g=0.85kg

c kg [

c 705g[ | d7500g

(o | oot
e 4500kg = tonnes

kg=1300g

f 900g=___kg

2 Join the Vboxes to the correct scales.

1009 200g 3009 4009

3 This recipe makes eight flapjacks.

(|

!

flapjacks (8) flapjacks (32)

oats 80g oats g
butter 7549 butter g
sugar 729 sugar g
flour S4g | flour g
syrup 289 syrup g

ai455m

4.55 km is the same as:

b 455m

| need to make 32 flapjacks.
How much of each
ingredient will | need?

10009 = 1 kg
1000kg = 1 tonne
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| ¢ 8020ml

300 ml equals: a 301
8.2l equals: a 8200 ml b 820 ml

1 Convert these metric measures.

a___m=7I e 3.6l=_—_mi N (1;/,,\ ,,\1
W )
PpEsEA] = 600 cl £ 2050ml= | 3 | H
c —_ml=18I g 190cl=___| 3 l /',/'
= 1=
c=6.9I Bi200cl= | 2 [~
- a What is the difference between =2
the amount of water in each jug? » 3
b What is the total amount of water in the two jugs? Q
¢ How much more water is needed to fill the 3 litre jug?
d How much more water is needed to fill the 5 litre jug?

3 One gallon is approximately equal to 4.5 litres. hira;)
shows the conversion of gallons to litres.

e~

Use the graph to change these to litres:
aOSgaI=_I d3gal=___|I

A b3fgald=___| e2gal=___|I
¢~ ci5gal=___| f175qal=__|I

1000 millilitres = 1 litre

100 centilitres = 1 litre
10 decilitres = 1 litre

l3 7,2,6and 2 is
hg.? b 4 c5




Mental Maths

5 Second Response

1. Write the number twelve thousand three hundred and sixty five in
figures.

2. Multiply ninety nine by one hundred.

3. It is 249 miles from London to Preston. Round this distance to the
nearest one hundred miles.

10 Second Response

4. Write down as many numbers as you can that are divisible by 3.
5. What fraction is equivalent to 5/107?

6. What fraction of 1 metre is 75cm?

7. What is 50% of £12.50?

8. What is the difference between 100 and 27?

9. What is the difference between 155 and 390?

10. What is half of 340?

11. Pencils cost 12p each. How much would eight pencils cost?
12. How many minutes are there in an hour and a half?

13. How many pence is £1.577?

14. How many grams are equivalent to 4.5kg?

15. What is 4 squared?



(PROBLEN SOLVING TASK CARDS - Gucssing end Checking)

Problem 61 |Numbers 123

In a basketball game, Jeff, Henry and
George scored 20 goals between them.
Jeff scored the lowest, and George
scored the highest. Jeff's score doubled
was between Henry's and George's. How
many goals did Jeff score?

\
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Problem 62 |Numbers |23

Three sisters put their money together
to buy an anniversary present for their
parents. Between them, Michelle, Lauren
and Holly have saved £20. Michelle
saved £3 more than Lauren, and Lauren
saved £4 more than Holly. How much did
each of the sisters save?

Problem 63 | Measures

R B by L S R

A carpenter is busy making
three-legged stools and four-
legged chairs for a furniture fair.
She managed to produce 30 items
of furniture. When she counted,
there were 104 legs altogether
(not counting hers). How many
chairs and stools were there?

© Badger Publishing - Problem Solving
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UNIT 3.3

Redwings Horse Sanctuary

Redwings Horse Sanctuary was founded in
1984 to provide a caring home for horses,
ponies, donkeys and mules. These animals
have been rescued from neglect and the
threat of being killed. Our work is about
reducing the suffering of equines. Every
week we take in animals which really need
our care and attention. We aim to give them
a home until the end of their days. At
present we care for over 1,000 animals and,
because more and more help is needed,
sadly we expect that our workload will
CONUNUE 1O Erow.

With the help of our caring staff and
volunteers, Redwings looks after its animals,
makes new arrivals happy and comfortable
and raises money to keep them. Our horses
live as natural a life as possible. During the
winter they run free in well-maintained

paddaocks, In summer extra land is leased
for them to graze in.

It is very sad to see the animals who have
suffered. It is also rewarding to watch them
get better and make friends in the
Sanctuary. They come to Redwings for many
reasons: some have been neglected or were
going to be killed. Some are injured or are
unwanted by their owners. The main reason
for the large number of unwanted equines
is that people are not sensible when
breeding them.

Redwings spends a lot of time and money
on education. We warn people about the
problems of overbreeding the animals. We
think this happens not because of neglect,
but because owners do not think about the
results of their actions. Our trained Welfare
Officers help and give advice to owners on
the care and feeding of horses and donkeys.
We give out free information sheets about
how to care for their animals to anyone
who asks. We also produce leaflets, such as
this one, and send out a regular newsletter
which gives our views and describes the
work we do.







Audience and Purpose
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Audience and Purpose

Challenge 2
| nd decide if the writing is a

n Read the extracts in Challenge 1 a
story, recount, advert or letter. Underline the correct answer:

a) Extract A is a story, recount, advert, letter.
b) Extract B is a story, recount, advert, letter.
¢) Extract Cis a story, recount, advert, letter.
d) Extract D is a story, recount, advert, letter.

Challenge 3

n Beside each genre of writing state whether the writer s
a formal or informal writing style.

hould use

a) report writing
b) advertising writing
¢) diary writing
d) presenting an argument
e) writing a book review

Read the extract below and underline who the audience might
be and whether the writing is formal or informal.

hing together, and got into Ioadsoftroublé*togefher

Wh hool, we were in the same classes
antics made the teachers put us into different classes.
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Writing: formal, informal
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Phase 16 Week 5

find the words from your
spelling list in this Wordsearch

Date
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transaction

transfer
transatlantic
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transparent

translucent
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translate

transform
transformation
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ancient

sufficient

Can you find six other words ending in

‘ent’?

-

Activity 2:

(n__.oom_o, the correct prefix to complete these words.

2

trans -

auto -

biography

parent

portable

mobile

_033.

matic

mation

formation

plant

fusion

late

action

=

_______graph
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Activity 3:

find smaller words within this soz_.v
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Phase 16 Week 5 Look, Say, Cover, Write, Check

Name Date v

: 1st Attempt 2nd Attempt 3rd Attempt : 4th Attempt

transplant

transaction

transfer

transatlantic

transparent

translucent

transportable

translate

transform

transformation

transfusion

automatic

‘autograph
autobiography
automobile
automation
good
door
ancient
sufficient
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Phase 17 Week 5 Spelling Practice Activities

Name Date
Activity 1: N —
find the words from your b ;
Activity 2:
%o:.am list in this Wordsearch Underline the correct spelling in each pair.
autopilot blm{r{ili{r|k|l]t]c]s (i illegable or illegible
aonomy djs{o UHLs LERIR handywork or handiwork
handiwork olnlo alslilellla
handsome = el ol translucent or translusent
. a
gl . autonm or autonom
mission llcly ils{tlt|bld s y £ y
illegal elb]|i s|lo|f|n|d iliterate or illiterate
illiterate sl i ileli|t]|t w.m_‘ﬁ“ or first
illegible : ololrlt]c =31} ish
transparent 0 S misston or misnon
translucent s| Ny b byceps or biceps
transportable aln ejnjtje . list isluct
bicycle = ) eld|t]g]t cycus or ciclys
biceps =5 [ k[ tInlali f:cnn_m or tricycle Y
cyclist - bltlr(1le
. i|c
tricycle : =~ Tclblnle Activity 3
gltce s ﬁ tlalilu Match the prefix to the correct word.
(? ot gl b The first one has been done for you.

(.

il parent J
English Curriculum Essential Words
auto cycle
interfere sincere
trans some
Can you find six other words

that contain ‘in’2 bi legal

hand pilot L
&
/
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Phase 17 Week 5

autopilot

Look, Say, Cover, Write, Check

i 4th Attempt

autonomy

handiwork

handsome

session

mission

illegal

illiterate

illegible

transparent

translucent

transportable

bicycle

biceps

cyclist

tricycle

birds

first

interfere

sincere
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